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General Instructions :

Read the following instructions carefully and follow them :

(i)
(ii)
(iii)
(iv)
v)
(vi)
(vii)
(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.

This question paper contains two sections :

Section A — Macro Economics

Section B — Indian Economic Development

This question paper contains 20 Multiple Choice type questions. Each question carries
1 mark.

This question paper contains 4 Short Answer Type-I questions. Each question carries
3 marks. Answer these questions in 60 to 80 words.

This question paper contains 6 Short Answer Type-II questions. Each question carries
4 marks. Answer these questions in 80 to 100 words.

This question paper contains 4 Long Answer type questions. Each question carries
6 marks. Answer these questions in 100 to 150 words.

Attempt all parts of a question together.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such questions
are to be attempted by Visually Impaired candidates only.

There is no overall choice in the question paper. However, an internal choice has been
provided in few questions. Only one of the choices in such questions has to be

attempted.
SECTION A
Macro Economics
Read the following statements carefully : 1

Statement 1 :  Gross National Product (GNP) can be greater than Gross

Domestic Product (GDP) in a two-sector economy.
Statement 2 : Net factor income from abroad is zero in a two-sector economy.

In the light of the given statements, choose the correct alternative from the

following :

(A)  Statement 1 is true and Statement 2 is false.
(B)  Statement 1 is false and Statement 2 is true.
(C)  Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.
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2. Keeping all other factors constant, trade surplus may arise in the Balance of

Payments of a nation because of

(Choose the correct alternative to fill in the blank) 1
(A) rise in export of coffee to Japan
(B)  fall in import of banking services
(C)  fall in exports of cereals

(D)  rise in remittances to abroad

3. Suppose in a hypothetical economy, the Central Bank increases the reserve ratio

from 10% to 25%. Keeping the amount of initial deposits constant at

T 1,000 crore, the amount of total money creation would be ¥ crore.
(Choose the correct alternative to fill in the blank) 1
(A) 10,000 (B) 4,000
(C) 6,000 (D) 5,000
4. is the total volume of money held by the public, for the purpose of

disposing off, at a particular point of time.

(Choose the correct alternative to fill in the blank) 1

(A)  Term deposits (B) Demand for money
(C)  Money supply (D) Credit creation
5. Under exchange rate system, the Central Bank and Government of the

country do not have any authority to interfere in the exchange rate determination.

(Choose the correct alternative to fill in the blank) 1
(A)  fixed (B) floating
(C)  managed floating (D) gold standard
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few T AT & STl 0, fefalaa & @ w foehew 1 =em Fifse
(A) HIT 1 TT 8 IANFHFIT2 AT T |

(B) @Y1 IWMTE ANFIT2 AT R |
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(D) HUT 1 T2 A IEAE |

7. fordlt srederaer H, T % ATY-3TTY (break-even) X bt ferfror KES
IERIEIRCT IR
(i) €T ST FGRT (MPC) = HiHid s=rd Sg it (MPS)
(i)  F(Y) = 3997 (C)
(i) sEA(S)=0
(iv)  Td 3T SERT (APC) = 3794 s=id Yaid (APS)
(Tt T T Wi o o ot fashew s se FifsrT)
IEETR IR
(A) e (i)
B) (i) 3 (i)
(C) (i) 3N (iii)
(D) (i) 3R (iv)

8. Uk hicdieh Tefegeree & fu a8 i @ foh ;
37d o= 9T (APS) = 0.4

AT (Y) = T100 FS
IR 39T (C) = TI0HIE
EENRICEIR: ) = |
(Tt T T i o o Ot fasheq s seA fifsrT).
(A) 5 (B) 2
(C) 4 (D) 10
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6. Read the following statements carefully : 1
Statement I :  Average Propensity to Consume (APC) represents the change in

total income with respect to a given change in total consumption.
Statement 2. When income changes, change in consumption (AC) can never
exceed the change in income (AY).
In the light of the given statements, choose the correct alternative from the
following :
(A)  Statement 1 is true and Statement 2 is false.
(B)  Statement 1 is false and Statement 2 is true.
(C)  Both Statements 1 and 2 are true.
(D)  Both Statements 1 and 2 are false.

7. In an economy, break-even level of income can be determined, when
(1) Marginal Propensity to Consume (MPC) = Marginal Propensity to Save (MPS)
(i1))  Income (Y) = Consumption (C)
(ii1))  Savings (S)=0
(iv)  Average Propensity to Consume (APC) = Average Propensity to Save (APS)

(Choose the correct alternative to fill in the blank) 7
Alternatives :
(A)  Only (i)
(B) (i) and (ii)
(C©) (i) and (iii)
(D) (i) and (iv)

8. For a hypothetical economy, it is known that :
Average Propensity to Save (APS) = 04
Income (Y) = T 100 crore
Autonomous Consumption (E) = T 10 crore

The value of investment multiplier would be

(Choose the correct alternative to fill in the blank) 1
(A) 5 B) 2
< 4 (D) 10

58/S/3 ! P.T.O.
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(A) =R (B) It
(€) =g (D) ¥

e hifo, FFctRad # & -1 forshed 3T 3R YIS 311 o siter AT
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(A) €T STHRT IGRT (MPC)/3 T TR Y4 (APC)
(B) €T ITHNT FGRT (MPC) < 3THd 3741 Y (APC)
(C) €T ITHRT FGRT (MPC) = 3THd 3T Jgf (APC)
(D) €T ITHA TG (MPC) = 1

(F)  “HST FAAT I HET GoAg o Hiedred (TR wHH 8, 9] o Josh-g9e @it
YIUATAE I
T 319 4T T e & TEHA & 2 3T I o GHH H 99 FHRor iR | 3

HYAT

(@) =W o =1 T 3T AT §Hoh HH Bl o T o HI0N ohi LW iTohd HITSIT | 3

faq 7TC AT % AR W, Wre ARG T TS qed I8 (NVARC) o e 1 SITHH

Ry 3
H . el Tl (@ IS )
(i) | forshr 2,000
(i) | = UTA T 6T 500
(iil) | &7 | ufeaedT 300
(iv) | ahet Fawr 500
(V) | & HATTH F 200
(vi) | 3& femT 300
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The account of Balance of Payments reflects the net changes in
financial claims on the Rest of the World (ROW).

(Choose the correct alternative to fill in the blank) 1
(A)  Trade (B) Capital
(C)  Current (D) Visible

Identify, which of the following options exhibits the proportional relation

between consumption and disposable income. 1

(A) Marginal Propensity to Consume (MPC)/Average Propensity to
Consume (APC)

(B) Marginal Propensity to Consume (MPC) < Average Propensity to
Consume (APC)

© Marginal Propensity to Consume (MPC) = Average Propensity to
Consume (APC)

(D)  Marginal Propensity to Consume = 1

(a) “Devaluation of currency and depreciation of currency have the same
implications, but they originate from divergent sources.”

Do you agree with the given statement ? Give valid reason in support of

your answer. 3
OR
(b)  Outline the meaning and reasons behind narrowing down of Current
Account Deficit. 3

On the basis of the given data, estimate the value of Net Value Added at Factor

Cost (NVAF(Q) : 3
S. No. Items Amount (Z in crore)
(i) | Sales 2,000
(i) | Purchase of raw material 500
(i) | Change in stock 300
(iv) | Gross Investment 500
(v) | Net Indirect Taxes 200
(vi) | Net Investment 300
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() T ST (C) =T 25 FS
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T s Sk
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W E Hafg = fag W e i gty
< & G ISR H
HT HhdT & S T GhaT &

forsher o TehdT &

(i)  wehfaa Reufd 6t ug=m A |
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13. (a) “When ex-ante Aggregate Demand (AD) is more than ex-ante Aggregate
Supply (AS), it results in an accumulation of unintended inventories.”
Defend or refute the given statement, giving valid reasons in support of your
answer. 4
OR
(b)  Assume the following for a hypothetical economy :
(1) Autonomous Consumption Expenditure (6) =T 25 crore
(i1)  Marginal Propensity to Save (MPS) = 0.1
(iii) Level of Income (Y) = < 2,000 crore
(iv)  Autonomous Investment (I) = I 25 crore
Is the economy in equilibrium situation ? Justify your answer with valid
calculations. 4
14.  Study the following image : 4
N
Reserve Bank of
India
!
N N N
Sell government
Increase Repo Rate securities in the Increase Reverse
Repo Rate
open market
(1) Identify the indicated situation.
(i1)  Explain any two steps which may be taken by RBI to correct the situation.
58/5/3
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R TR o FeI sheslTr sieh 510 fohq 7 U foheel a1 shraif it s o =reii <hifsTe | 4
(F) T T F FEATALT T H L T AT | 3
(@)  “STRIATSA! i THRIHF FLST HhRIcHs & H qiflehd AT ST ekl 8, W] I8

(%h)

)

HTSIRAS a1 & foh Hehet ] 3cA1E © gTehT |G Hare &1 |”
AT 3T U T HoT T TEAd & 2 A9 I & T T I8 SR Y | 3

()  “FE S 2023 — 24 H G&H, Y  HEAH ITH (MSME) HATel i
¥ 22,138 FHUS o ATeeT T TEATS TohIT 7T T |
39 32 I UEIH I AT hIST, TS TTehR SEdTiad =3 o |1 9Tt
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(i) USRI =1 TR =1 ht THT A o fAIT S 31 1 Ieeia
HIT | 2
aTera

(i) R TSR, T IRl 1 O weE Ul uesh § q9n $6 & AfvE 4
ffopa foram ST EhaT 2 1
A <ifSTT 36 310 R TR & T famT o gew € | 0 A
AT T T Ue 3 o A HA | 34 g i gemar hifse 3

(i)  “I9C % A THR — =1 HT a9, ARRIY e T HJfIq asie, & Fohd
g7
T AT fU Y hoH § T=HT § 2 A9 ST o GHT § 3¢ SHror ST |

o
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“The Reserve Bank of India (RBI) performs the same function for the

government as the commercial banks perform for the general public.”

Discuss briefly any two such functions performed by the Central Bank for the

Government of India.

(a)

(b)

(a)

(b)

Differentiate between factor income and transfer income.

“Externalities can be classified into negative or positive, however it is not

necessary that they will be directly correlated with the Gross Domestic

Product.”

Do you agree with the given statement ? Give valid reasons in support of

your anSwer.

(1)

(ii)

(1)

(ii)

“The Union Budget 2023 —24 had proposed an allocation of
T 22,138 crore to the Micro, Small and Medium Enterprise (MSME)
Ministry.”

Identify and explain the objective that the government is trying to

achieve with the proposed expenditure.

State the formulae for calculating fiscal deficit and revenue deficit.

OR

“Tax revenues, an important component of revenue receipts, can be
further classified into two categories.”

Imagine yourself as a member of Department of Revenue of the
Government of India. Help your friend to identify and differentiate

between the two categories of taxes.

“A budget can be deficit, surplus or balanced.”
Do you agree with the given statement ? Give valid reasons in

support of your answer.
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(A) IR (A) 3R HROT (R) THT T 8 R SR (R), ANTFLT (A) T Tt
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(B)  SAMMHUT (A) 3R FHRT (R) THT T &, Ao HROT (R), ATHFAT (A) Fl &l
T Tt TR |

(C)  firRT (A) TcT R, Al 10T (R) ST R |

(D) 3SR (A) 37T B, AfehT R (R) AT ® |

20. =9 ¥ &0 fRg g U Y ST % ATy [T | o fiiee
TS oft |

(Feara T &1 i & fofu ot fospeg FT e Fifsw) 7
(A) ‘ijﬁ“‘lﬁ ‘OI"v_g_[Gﬁ &+ TSI (Nationalisation)
(B) ﬁfﬁ“‘lﬁ El“v_g_,fi‘lﬁ &+ ﬁTI@HW{UT (Denationalisation)
(C)  Uohel-Gd i
(D) fg-dam Fifa
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SECTION B

Indian Economic Development

can be classified as one of the alternative sources of diversification

from farm output.

(Choose the correct alternative to fill in the blank) 1
(A)  Green Revolution (B) Horticulture
(C)  Organic Farming (D) Conventional Farming

Read the following statements — Assertion (A) and Reason (R). Choose the

correct alternative given below : 1

Assertion (A) :  Human capital cannot be traded in the market, whereas its

services can be traded.

Reason (R) : Human capital is intangible in nature.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

measure introduced in China led to the decline in its population as
well as sex ratio.
(Choose the correct alternative to fill in the blank) 1
(A) Nationalisation of capital goods
(B)  Denationalisation of capital goods
(C)  One-child norm
(D)  Two-child norm
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FIF 1 ;. HHARTR TR G WA HY 3 Aeh0T Seiqeleh/gaTehi &9 §
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FIT2: W HHA o 3cATe i TA] FH o6 Ui AU 6 et 33T o |
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(A) HIT 1 TT 8 IANFHIT2 AT |
(B) YT IMIE ANFIT 2 AT R |
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(D) YT 1 32 I 3T R |

1965 H, |11 T IR foma, fSreer 3iaeia S o USie’l sl UTHIT &1
T T i a7 HiEs o forw Sei e e |
(TR oI T R o foTe wiet foshed &1 sA difsiw)

(A) e AU BRES ANFE

(B) g omedt

(C)  HEM g |iEh e shifel
(D)  UEAHIAh fIehTE JsrT
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1s geographically the largest nation among India, China and
Pakistan and its density is among the three nations.

(Choose the correct alternative to fill in the blanks)  /

(A)  China, highest (B) Pakistan, lowest

(C) India, lowest (D) China, lowest

Read the following statements carefully : 1
Statement 1 : The commercialisation of Indian agriculture was coercively

introduced by the colonial government.

Statement 2 : Britishers had a two-fold motive behind the enforcement of food
crops production.

In the light of the given statements, choose the correct alternative from the

following :

(A)  Statement 1 is true and Statement 2 is false.
(B)  Statement 1 is false and Statement 2 is true.
(C)  Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

In 1965, Mao introduced the under which students and

professionals were sent to work and learn from the countryside.

(Choose the correct alternative to fill in the blank) 1
(A)  Great Leap Forward Campaign
(B) Commune System
(C)  Great Proletarian Cultural Revolution

(D) Medium Term Development Plan
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(A) AU HE
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(D) TR TUTS
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(B) R 3Tk RIS ohl erereiiar A1SHTaAT o ATeas & ST fofar T o |

(C) I TR ST STEeh &1 o ST i Fami shl A fohaT 1317 ofT |

(D) WA H §ohel =i 3c91E (GDP) # e % forg sitenfies amt o fifama vt
SRR o |

1978 ¥ <= 7 v fopu Tu amfeler el o i, foaeft frommht @1 stefia #er &
foag T T Y TS off |

(Feara T &t v & Torw wt fasheg T s fifsmy. 7
(A)  ISoT &= (B) ifw &mit
(C) T R &l (D) forrw anfder &=t
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Britain maintained a monopoly control over India’s exports and imports while
the rest was allowed with a few other countries like

(Choose the correct alternative to fill in the blank)
(1) China
(1)  Ceylon (Sri Lanka)

(i)  Persia (Iran)

Alternatives :
(A)  Only (i) (B) (1) and (i)
(C)  (ii) and (ii1) (D) (1), (ii) and (iii)

Identify the alternate marketing channel that operates majorly in Punjab,
Haryana and Rajasthan. (Choose the correct alternative)
(A)  Apni Mandi

(B)  Hadapsar Mandi

(C)  Rythu Bazars

(D)  Uzhavar Sandies

Identify the correct statement from the following :

(A) India adopted the socialistic economic system after Independence.

(B) Indian economic planning was implemented through Five Year Plans.

(C)  Land reforms under industrial sector were implemented by the Government

of India.

(D)  Policy initiatives in the industrial sector were responsible for decline in

Gross Domestic Product (GDP) in India.

Under the economic reforms introduced in China in 1978, were set up to

attract foreign investors.

(Choose the correct alternative to fill in the blank) 7

(A) Remittance Zones (B) Land Zones

(C)  Special Commune Zones (D) Special Economic Zones

P.T.O.

collegedunias

India’s largest Student Review Platform



ELE
e

28. (%) Eﬁﬁmﬁﬁmﬁwﬁmﬁﬁtwﬁmémwﬁ&aﬁaﬁ

(ecological) 3T U SHehT AATT R TR B 17
T 3ATY TS TTT 9 § FEHA © 2 3 I o GHel H oY HROT TEq@ g | 3
arraT
(@) 9RAd | NuHafReE R g fomid 6l 18 SR d-ate i e i
TierferIT T Ieei@ T | 3

29. fou ww o | qwifs g ufdfeufa i qe=m hifsw qom 3@ awen w e e & fog
Toret wep wrTel} T St ST it | 3

e :  [HHEIRad Jo7 Fad giteartera qaemiefar & fo7g 37 G 29 % T W e |

AfyTer I90TAT hT FHEIT 9 I9Tet & § fHEer uH o o foRet wen worHifer shr s
EAIEL 3
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28. (a) “Green Revolution made India self-sufficient in food grains, but was
criticized on ecological grounds.”
Do you agree with the given statement ? Present valid reasons in support of
your answer. 3
OR

(b)  Enumerate any three infrastructural development activities undertaken by

the colonial government in India. 3

29.  Identify the situation depicted in the given figure and explain any one strategy

to effectively overcome the problem. 3

Note :  The following question is for the Visually Impaired Candidates only in lieu of
0. No. 29.

Explain any one strategy to effectively overcome the problem of global warming. 3

58/5/3 Page 21 ! P.T.O.

collegedunia:

India’s largest Student Review Platform



| O]

30. (%) “TH Ygo BV fquur gurredt foret ot g i Hivyonelt & fo fe i gt =

FH AT |
39 o1 H WG EThR G 33TT 11T foredl a1 el bl Heflerg o STerd e s
FHifore frg il | 4
arera

@)  “fonTa o ant |, WRd H T Y § Srehfer/sifae iy shi TR T
@R |
Stforeh Icural il 3R 36 TAHIGT o e & fohedi a1 hron ot diered ==t
e | 4

31, owa # e o fafi woll X = S STara H Ear g |
¢ ST AT Y 1S TTT K2 o1 AR T T shiorg |

4
32. TfaRaa sAtewret o mur X, T o UiferEd™ o T TSR o 3cuted § giad
T TET L =T HI ; 4
TSR A GVA T &t T 2018 - 2019 W (%)
fasm GVA T M HTeleret ST FraoT
IR | gifeedH | YRd Eic) ClEZSIC]
Eab| 16 7 24 43 26 41
JET 30 41 19 25 28 24
ot 54 52 57 32 46 35
FA 100 100 100 100 100 100
| 2 74 Tahre Rg1E 2019 : TR SR S210d 2019 % I7E G |
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30. (a) “A sound agricultural marketing system works as the backbone of any
agro-system of any nation.”
Justify the above statement by listing any two steps taken by the Indian
government in this direction.
OR
(b)  ““Over the past few years, India has witnessed a shift from traditional
conventional farming to natural/organic farming.”’
Discuss briefly any two reasons behind this shift towards organic produce.
31.  “Expenditure on different levels of education in India is in the same
proportion.”
Defend or refute the given statement, giving valid reasons.
32.  On the basis of the data given below, outline and discuss the shift in employment
and output for China and Pakistan :
Sectoral Share of Employment and GVA (%) in 2018 — 2019
Sector Contribution to GVA Distribution of workforce
India China | Pakistan | India China Pakistan
Agriculture 16 7 24 43 26 41
Industry 30 41 19 25 28 24
Services 54 52 57 32 46 35
Total 100 100 100 100 100 100
Source : Human Development Report 2019 : Key Indicators of Asia and
Pacific 2019.
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[EINICCRIEEIR2IERCEACI2RE R IR

SATS 1991 o I o €Y T I Th STEI-3-HE SISL-SATUNG SAefeaareen
I T L o 9T H Teh LI YiEa 3TRT o7 | i § YR fohu 7@ mamies
STRIHTUT o HaH SIgd SATTe o, BTcAToh geh il el Tal o 30 hefl-ahft Tehrare ot
AT & off |

1991 % AN + %o HeAed] AT o G &l i Bight a¥ eqatl T
AT TATSEH shT T T feam o |

JUIerT SR, ST foh AT Yook - T 30% 3, TATZHE % i &l & | 7
Teh 39T IUAd, fava MR TeT (WTO) H IR o STITRE ATSIeRT §RT Ush do%het
Y o TR 5T eGSRl i TATSHE § Fofd o fom TR T |

A H, TTSROT/ETE/GTE o TR W 36 FB TEAT hl DI, Tl
FEGAT ! T TS A1 371 Uil o ST fohaT ST Eehall € |

ATEHE B o §1, ¥ AT Yoo &L TG 9L YHTell Fidsier s 175 off | g8ty
3T T T T T T STRATT (e & i 7 HLAT @1 & | AT Yook § el
e §9 A, i aeqei o & ffia 2 |

FATY, IIHIHLOT 3 SREG3AT T HSAT § AR Bl € | AT Yook H HHT [eeh
T shitieh FIEE o HIEH | WIS ol 775 © | ST Yoo oS o1 §AT § i o A |
HTITA Yok LT o Toh ©Te Yfchehor 4 36 o # wererdt At off |

fou T T F AT I % SR ) AEferfad yeEt o s ST

() <1991 % I H TRW FFT Q[T IR @&d =06 o |
1991 = =TI Rl § & fohdl a1 AT Guri shi AT hid gu {4y g
e o1 Ifucy frg g |

(i)  UH forel a1 &1l o1 Socid ShITST FofH ST Yoo H il ol 715 off |

4
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33.  Read the following text carefully :

With the July 1991 budget, there was a clear switch in favour of a move
towards an outward-oriented, market-based economy. The liberalisation steps
initiated in the budget were very comprehensive although the pace remained

gradual and there were occasional hiccups.

The 1991 reforms did away with import licensing on all but a handful of

intermediate inputs and capital goods.

Consumer goods, accounting for approximately 30% of tariff lines,
remained under licensing, Only a decade later, after a successful challenge by
India’s trading partners at the World Trade Organisation (WTO), were these

goods freed of licensing.

Today, except for a handful of goods that are disallowed on
environmental/health/safety grounds, all goods may be imported without a license

or other restrictions.

With the removal of licensing, the tariff rates became effective restrictions
on imports. Therefore, a major task of the reforms has been to lower the tariff
rates. Tariff reductions have been mainly confined to non-agricultural, industrial

goods.

Therefore, the liberalization applies strictly to these goods. The reduction in
tariffs has been achieved through a gradual compression of the tariff rates. A
simultaneous rationalization of the tariff structure through a reduction in the

number of tariff bands helped in this direction.

On the basis of the given text and common understanding, answer the following

questions :
(1) “The trade liberalization reforms initiated in 1991 budget were very
comprehensive.”

Justify the given statement explaining any two trade reforms introduced in
1991. 4

(11)  State any two areas in which tariff reductions were introduced. 2
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4. F) () NOAY FiE Adyaeen fGFa Bt 2, F0-99 refogaren T Ffora
Al sl @& 4 off g Bt 7; TR off 1991 o 918 & Y 38k 310ame
FET T I H T TR |”
FAT HATY T 7T A & TEHA & ? 370 I o U&1 H oY ook W& v | 4

(i) SRR ISTETT G o5 SIS i aiewren T | 2

aroraT
@) () AU T FE H s ot aut & fFefia sra a1
S Y H T 7Y USTIR o TR hl Y& L F&q H AGATHINT | 3
(i) 39 Hohdeh T A9 SATST, foraerT foreft s T Ut ht fearfa =t farverwor

T B G 39T fohaT ST © | 38k Hew shl oft <=1t ShifsTy |

o
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34. (a) (1) “As an economy grows, the number of employed persons in an

economy also increases; however, since 1991 India has come up as an

exception to this.”’

Do you agree with the given statement ? Give valid arguments in

support of your answer. 4
(i1) Define disguised unemployment with a suitable example. 2
OR

(b) (1) “Neha has been working in a multinational corporation since the past
five years on the payroll of the company™.
Identify and briefly explain the type of employment indicated in the

above statement. 3

(1) Name the indicator that is generally used for analysing the

employment situation in a country. Also discuss its importance. 3
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